CHEM 1410 HW #5

Due Oct. 15
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The major peak near 1700 cm™" is the C=0 stretch and the peak near 1200 cm™ is a
C—C—C stretch. These peaks are consistent with the compound being acetone. Ethyl
amine should show a strong peak near 3350 cm ™ and pentanol should show a strong peak
near 3400 cm™'. Because these peaks are absent. these compounds can be ruled out.

8.15

J I
B= q_? 1 = q_f
8rury 87°ukB

| 6.6260755x107T 5
© 7 |5 2 20141018x18 9984032 amu
(2.0141018+18.9984032)

7 =9.1707x10" "' m

%1.6605402 %10 kgamu ™ x11.007 cm™ x2.99792458 x10"%cms™

8.22

a

4 — i u 051_1 i:nléidgf’ _ H (AH?) —imyg _ig + —ig imlgdﬁj
A, e cosPA, e =— e (" +e™)e

il

2

:J—f (AH‘J) J'|:€—f[mg—m]—1]c-‘i +€—r‘{_m:—m]+1}cﬂ]d¢
2

This integral only has a nonzero value if one of the exponents in the integrand 1s zero.

Therefore, m, =m, = 1.



